Inverse TRIG FUNCTIONS $y = \sin y$ $y = \sin y$ $y = \cos y \frac{dy}{dx}$ $\frac{1}{\cos y} = \frac{1}{dx}$ $\frac{1}{\sin x} = \frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\cos y} = \frac{1}{dx}$ $\frac{1}{\sin x} = \frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sin x} = \frac{1}{1-x^2}$ $\frac{1}{\sin x} = \frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1}{\sqrt{1-x^2}}$ $\frac{1$

$$f(x) = \frac{\sin^{-1}(7x^{5})}{\sqrt{1 - (7x^{5})^{2}}} \cdot 35x^{4} = \frac{35x^{4}}{\sqrt{1 - 49x^{10}}} \cdot \frac{\frac{1}{\sqrt{1 - x^{2}}}}{\sqrt{1 - 49x^{10}}}$$

$$f(x) = \frac{1}{\sqrt{1 - (7x^{5})^{2}}} \cdot 35x^{4} = \frac{35x^{4}}{\sqrt{1 - 49x^{10}}} \cdot \frac{\frac{1}{\sqrt{1 - x^{2}}}}{\sqrt{1 - 49x^{10}}}$$

$$f(x) = \frac{-1}{\sqrt{1 - (7x^{5})^{2}}} \cdot \frac{1}{\sqrt{1 - 49x^{10}}} \cdot \frac{1}{\sqrt{1 -$$

L'Hopital's Rule Indekrminate Forms

 $\lim_{X\to 2} \frac{x^2 4}{1-2} = \frac{0}{0}$

P= (5+X)(5-X) = 4

L'Hopital's Rule

If por so

lim f(x) = lim f'(x) x-># g(x) x+# g'(x)

$$\lim_{X\to 1} \frac{\chi^3 - 3\chi^2 + 5\chi - 3}{\chi^2 + \chi - \chi} = \frac{1 - 3 + 5 - 3}{1 + 1 - \lambda} = \frac{0}{0}$$

$$\lim_{X\to 1} \frac{3\chi^2 - 6\chi + 5}{3\chi + 1} = \frac{3 - 6 + 5}{3 + 1} = \frac{2}{3}$$

$$\lim_{X\to 0} \frac{e^{X}-1-X}{\cos(2x)-1} = \frac{1-1-0}{1-1} = \frac{0}{0}$$

$$\lim_{x\to 0} \frac{e^{x}-1}{-\sin(2x)\cdot 2} = \frac{1-1}{0.2} = \frac{0}{0}$$

$$-2\sin(2x)$$

$$\lim_{x \to 0} \frac{e^{x}}{-2(3x(3x)\cdot 3)} = \frac{1}{-2\cdot 1\cdot 2} = \frac{1}{4}$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{1/\lambda}} \times \lim_{\chi \to 0^{+}} e^{\frac{x}{2}} = 0 \quad \lim_{\chi \to \infty} e^{\frac{x}{2}} + \infty$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{1/\lambda}} \times \lim_{\chi \to 0^{+}} \lim_{\chi \to \infty} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

$$\lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} \times \lim_{\chi \to 0^{+}} \frac{|-\ln x|}{e^{\frac{x}{2}}} = 0$$

